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$2 MATHS MARKING SCHEME 2023
TOTAL MARKS : 100 MARKS
ANSWER 1 2marks

A line of symmetry 1s a hine dividing an object into two equal and
exactly similar parts Zmarks

ANSWER 2 (3 marks)

o The paralle]l projection on one line, all images are [omed on that ne. 1 mark

A pointon the ine 15 mapped onto isell under paralle] projection on the same hine.
I mark

s PPoints are those points which lie exactly on the line ol projection under parallel

projection. Tmark

[[a hine segment, say AB w be projected 15 parallel o the direction ol the projecuon, then the

two points have the same image

Answer 3 (4 marks)

V2 VZ(VEH3)

VB3 (VE=VEIERE)

2mark

ETTER
V1046
To_3 Imark
S

V10446
2

Imark



For more Visit: www.thinkbig.rw

X7+ 2xy® — 6x°y + y’ — 3xy° + Ax°y

= x’ + 2xy° — 3xy° — 6x°y +14x°y + y’ Imark
=x’ — xy? — 2x°y + y? Imark

=t 2x%y  ay? + y? Imark

Answer 9 (5 marks)

{lﬂx Ay = 10 (1)
2x— 3y — 1(2)

10—y

(1) Imark

From (1) x —

-3
1

replace (1) i (2)

2(===) 3y = 1 Imark
20-8y 3y = 1
= 20 — 8y — 9y Imark
-3

= 17y = 3 — 20

17y = 3 — 20 — 17y
. l7<—>y—_—”<—>y—l Imark

— |l

in(i):x = —L—2— 2 Imark

S = {(2,1)]
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ANSWER 4 (3 marks)
Divide on both side of 7a= 3b by 7b  Imark
7a 3b

— = — Imark

7h ) 7

a-3 Imark

b 7

Answer 5 {4 marks)

f(4)y-2(4) +9(4) ¥ Imark

fid4)y—-32 +36 -8 Imark
fi4)y—-40 + 36 Imark
fid)y— -4 Imark

ANSWER 6 (3 marks)

Jogix) = flatx)]

(2501 1 maark
(25 1225 0101 e mark
Ax? 1A b | o1 miark

Answer 7 3 marks
= 5x* + 3x?2 —4x?2 +6x +5x — 79 — 9 + 2x° Imark
=5x* —x? + 11x — 88 + 2x*  1mark
= 5x%*+2x% —x* +11x — 88 Imark

ANSWER 8 3 marks
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Answer 10 (5 marks)

Let x be the number

Then,3x — 5 < 2x + 9 Imark
= AX - 2X < 9 + 5 ITmark
= x < 14 ITmark

Any number less than 14 satishies the given
conditions. In other words, any number in
the interval | —oo, 14| 2 marks

Answer 11 (5 marks)

D7 2 =5 tmark
0 2 .
Dx-| o 100 tmark
py |7 O] =-15 1mark
1 —5
X %— -2 Imark
—15 .
y —— =3 Imark
AMNSWER 12

A T
By midpoint thearem, [JE ZH[ l mark

1
We get 4x E(Eﬂx F4)y  1mark

= By — bx + 4 Tmark
ey by — 4. 1 mark
= Xy — 4
No,x — 2 1mark

8
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Answer 13 (3marks)
a.Mode 1s 8 Imark

b. Because 8 has more repetition in the set. 2 marks

Answer 14 3 marks

A vector s characterized by

a) A line ol action (ITmark)
b) Direction (ITmark)
¢) Magnitude (size or lengih) (Imark)

AMNSWER 15 [ 5 marks)

a (1.5 (7)) ()
Sd— b+ ¢ ":(:) 4-( 3]} [ ( nq'} 2 marks
(:]Zl;]} ( ]i} [ ( ﬂq'} 2 marks

(E‘}) lmark

ANSWER 16 15 marks

Reflection in hine y— 0 followed by
reflection in hine v X means that we
first obtaim the mmage under reflection

i hine y—0 and then reflect thas image

in hne vy X.
A(2,-0.5) 2 marks
B'(2,-2) 2 marks
(4, -3.5) 2 marks
D'(3.5, 1) 2 marks

9
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A'(0.5,-2), 2 marks

B"(2,-2), 2 marks
C"(3.5,-1) 2 marks
D(1,3.5) I marks

ANSWER 17

MN? + NP2 — MPY Imark

42+ NP 52 2Zmarks
NP2 — 52— g2 I mark
NPE = 25— 16 I mark
NP2 2marks

NP —vOem— 3cm 2 marks

Perimeter — MN + NP + MP — Scm + 4cm + 3om 12 cm (4 marks)
M= MM Awd

Area - — Hem® 0. Smarks (2 marks)
ANSWER I8
_ X
Suppose the transfation vector (8 (y)' tritrk
X . _
04 |X(J,) OA oo e e 2
= >(y,) L T . 2
2 x 0
D) =(0) o3

G
) x
Stmidarly, we can use points B and B to find (y)
ths,
G) ( ];’:) ( D ( ‘Z]) Y. | P11 o 8 cnid (i) ( ]2) ( ]])
( z]) ......... Imark
The transtation vector e.a'( 2]) ......... 1 mark

Answer 1Y

10
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Here maximuom [requency 1s 28, Thus the class 40-5001s the modal class. Tmark

Lsing the [ormula for contnuous, the value ol mode 15 siven by

e e
Mode :m.:}++ 2marks
(21204028200
G
U5+ =—  Imark
24
46167 lmark
Mumber
of Mlicl-
Marks )
students | point xt
fi (fixi)
0-10 12 5 L0 Imark
20-30 18 15 270 Imark
20-30 27 25 E Imark
30-40 20 35 S00 Imark
40-50 17 a5 FGD Imark
S50-60 b 55 330 Imark
lTotal 100 2HOD Imark
= 1 . 1 } ]
X =-fx — X 2800 — 28 3Jmarks
Ml

Answer 20

Total number of the tickets: (3+4+45) — 12

3 1
a)p(Red) = = = v = 0.25 ........5 marks
Pyp(bie) = — = = = 0.33 S marks
p(blue 5= 3 33 ... 5 marks
5
cIp(Green) = 7= 0416 .........5 marks

11



